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Figure 1: Yr 8 version (part ¢ only) and Y10 version of question Al

How many grey tiles does she need to surround a row of 60 white tiles? . 1 %C> . a) How many grey tiles does she need to surround a row of 60 white tiles? . {ZG a
Show how you obtained your answer. Show how you obtained your answer.
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b)  Write an expression for the number of grey tiles
needed to surround a row of nwhite tiles. Zh +6

Figure 2a: Student JG’s response to Al in Yr 8 Figure 2b: Student JG’s responses to Al in Yr 10
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|
c) Is 100! exactly divisible by 31 ? .r.\‘.(f .....

Explain your answer.
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Figure 4: A student response to A4c in Yr 8
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A4 a) 4! means 4x3x2x1.
5! means 5x4x3x2x1.

Is 5! exactly divisible by 3 ? /7
Explain your answer.
4 0E3ae%Y 120+5= 26
S5x¢ =2C 51 - 52 el 0
203 = £0 506' Lgx20 42312
s0<%: 12¢ il s enli8 e
gx 1 =120 %3 =40 242476
S 120 41 - xb

b) What does 100! mean?
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c) Is 100! exactly divisible by 31 ?

Explain your answer.
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A4 a) 4! means 4x3x2x1.
5! means 5x4x3x2x1.

Is 5! exactly divisible by 3 7 : Y% e

Explain your answer.

b) What does 50! mean?
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¢) Is 50! exactly divisible by 19 ? D en. ..

Explain your answer. o
tha. by, has Yocn "““LW LS ',
& oot be daecdle by ia

© 2001 Longitudinal Proof Project, Institute of Education, University of London

Figure 5a: Student AM’s responses to A4 in Yr 8

Figure 5b: Student AM’s responses to A4 in Yr 9




